XEMGER (

Sl (LEHIRR) )

| TETAT 4 | LEXEH |
| BEEREZ [ 19:30 |
EA
X5 5 = B
EXLUEHEER 11,690 A 13,319 A 25,009 A
BEEH 6,021 A 7,207 A 13,228 A
MR LAKREEHR 4,155 A 4,700 A 8,855 A
HAMEEEHR 1,754 A 2,375 A 4,129 A
TEEBREEH 112 A 132 A 244 N
ZEER 5,669 A 6,112 A 11,781 A
BER 51.51 % 54.11 % 52.89 %
Z=5
X5 5 = i
EELUHFEEN 15 A 12 A 27 N
BEEH 0 A 0 A 0 A
aEN LAKREEH 0 A 0 A 0 A
HAMEEEHR 0 A 0 A 0 A
TEEREEN 0 A 0 A 0 A
ENREREEHR 0 A 0 A 0 A
HEEREEHR 0 A 0 A 0 A
ZEER 15 A 12 A 27 N
BER 0.00 % 0.00 % 0.00 %
ER+E5
X5 5 = i
EXLEAERR 11,705 A 13,331 A 25,036 A
BEEHR 6,021 A 7,207 A 13,228 A
ZEER 5,684 A 6,124 A 11,808 A
BER 51. 44 % 54.06 % 52.84 %




